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E & m (X — kL) E (T7Y) 1018 min (43) 1min=60s
g5 2 kg (¥OJ 5 L) P (~%) 1015 h (8%) 1h =3600s
BE A s (¥) T (F3) 1012 d (A) 1d =86400s
g % A (Fo~T) G (¥4) 109 ©(E) 1° =(w/180)rad
HOFRE K (rveg) M (*#) 108 e 1" =(w/10800)rad
MBS mol (EJV) k (¥0) 108 " (®) 1" =(t/648000)rad
* B cd (H>F3) h (N7 B) 102 0,L(Yy k) 10 =10—3m3
da (F#) 107 t (h>) 1t =103%kg
d (¥v) 101
c (E>F) 10—2
m (X)) 10—3
u (z1470) 106
n (#/) 109
p (1) 10—12
f (Zzhh) 10-15
a (7 b) 10-18

93



ESINDBEFE (

DFEOENMYSICEZEMTHD, )

N dyn kgf
1 1X105 1.01972X10~1
h 1X10-5 1 1.01972X10—¢
9.80665 9.80665X10°% 1
PaX [&N/m?2 MPaX (& N/mm?2 kgf/mm? kgf/cm?
1 1X10-6 1.01972X10~7 1.01972X10—5
1108 1 1.01972X10~1 1.01972X10
s AN
9.80665X 106 9.80665 1 1X102
9.80665X104 9.80665X10—2 1X1072 1
7 . 1Pa=1N/m2, 1MPa=IN/mm?
Pa kPa MPa bar kgf/cm2 atm mmH,0 mmHgX (& Torr
1 1X1073 1X10—6 1X10—3 1.01972X10-5 9.86923 X106 1.01972X10~1 7.50062X10—3
1X103 1 1X10-3 1X1072 1.01972X1072 9.86923X1073 1.01972X102 7.50062
1X108 1X103 1 1X10 1.01972X10 9.86923 1.01972X105 7.50062X103
E A 1X10% 1X102 1X10—1 1 1.01972 9.86923X10~1 1.01972X104 7.50062X102
9.80665X104 9.80665X10 9.80665X10—2 9.80665X10~1 1 9.67841 X101 1X104 7.35559X102
1.01325X105 1.01325X102 1.01325X10~1 1.01325 1.03323 1 1.03323X104 7.60000X102
9.80665 9.80665X10—3 9.80665X 106 9.80665X10~5 1X10—4 9.67841X1075 1 7.35559X10~2
1.33322X102 1.33322X10~1 1.33322X10—4 1.33322X 103 1.35951 X103 1.31579X10—3 1.35951X10 1

1 1 1Pa= IN/m?2

J kW « h kgf * m kcal
- 1 2.77778X10~7 1.01972X10~1 2.38889X10—4
N . 3.600 X108 1 3.67098X105 8.6000 X102
IxIL¥—-
0 9.80665 2.72407X10—6 1 2.34270X10-3
e 4.18605X103 1.16279X103 4.26858X102 1
EI=IW:-s, U=IN'm
lcal=4.18605) (Ftmikiz & 5)
w kgf + m/s PS keal’h
1 1.01972X10~1 1.35962X 103 8.6000 X101
e 9.80665 1 1.33333X1072 8.43371
(IFE - 8H) ’ ' '
7.355 X102 7.5 X10 1 6.32529X102
i
1.16279 1.18572X10~1 1.58095X10—3 1
D IW=1J/s, PS LT
1PS=0.7355kW (R LiEIC £ 2)
lcal=4.18605) (Fl#ikic L 5)
W/ (m * K) kecal/ (m+h+C) W/ (m2 « K) kcal/ (m2+h+C)
1 8.6000X 101 N 1 8.6000X 101
HIRBR HARERE
1.16279 1 1.16279 1

7 T lcal=4.18605) (FHEEIZL )
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7 ¢ lcal=4.18605] (RHEEI2 L 5)



